@ % @ .\ Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagdo:
1641, 8 x 0.0001 = 1165,7 % 0.1 =
9500 x 0.0001 = 4423,2 x0.1 =
4356 x 0.1 = 1213, 1 x0.0001 =
2551,9 x0.0001 = 4145,6 % 0.0001 =
4092,4 x0.1 = 6781,9 x 0.1 =
7406,9 x 0.01 = 1939, 1 x 0.001 =
5240,4 % 0.001 = 3708, 6 % 0.0001 =
4739,9 % 0.001 = 3322,9 x 0.0001 =
6710,9 x 0.0001 = 6128,7 x0.001 =
9742,9 x 0.1 = 6123, 8 x 0.001 =
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Multiplique decimais por poténcias negativas de dez

Nome:

1641,8 x 0.0001 = 0.16418

9500 x 0.0001 = 0.95

4356 x 0.1 = 435.6

2551,9 % 0.0001 = 0.25519

4092,4 % 0.1 = 409.24

7406, 9 x 0.01 = 74.069

5240,4 x 0.001 = 5.2404

4739,9 % 0.001 = 4.7399

6710,9 x 0.0001 = 0.67109

9742,9 x 0.1 = 974.29

Encontro: Data: Pontuacao:

1165,7x 0.1 =116.57

4423,2 x 0.1 = 442.32

1213, 1 x 0.0001 = 0.12131

4145, 6 x 0.0001 = 0.41456

6781,9 x 0.1 =678.19

1939, 1 x 0.001 = 1.9391

3708, 6 x 0.0001 = 0.37086

3322,9 % 0.0001 = 0.33229

6128,7 x0.001 = 6.1287

6123,8 x0.001 = 6.1238
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